homework graph 6 linears.notebook August 14, 2017

Homework - 8/14/17
1) Graphy = -2x + 4 using the

following table of values. i
X |ly=-2x+4]Y
-1
0 X
3

2) Graphl x - 3y = 6]using y
x and y intercepfts.

x-intercept V=0 | y-intercept (x=0)

3) Find the slope of the line
containing the points
(-2,0)and (3, 1).
Then graph the line.

State the slope under the graphl! ¥

4) Find the slope of the following

line. 4
N i
I
State the slope 8
on the bottom | x
of the graph! i
v
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5) 6raph -2x - 3y + 4 = x + 13
using any method.

6) Graph 3(y - 2) = x - 3 using :
any method.
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